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V) ERIZEOMGME
Y B 10 MEEE T 7 B4 Yes, No, Not Given T, 5 3 M BLZs i, JEH LI Not
Given | WFRIBC i .

O 1m0 55 SR — B LA 40 S B B o
B0 T A S A T R A ST A B

(™ 2 et ML A . 10 SR, A 6 -7 ML BEA o
BRI,

ﬁﬂm 3 i — s bRk ), B 7 A 1 A 6 TR, | R A 4 R, LA U Ay 445

HFIWHE . HMBES 2006 4E 6 H 24 HiEKE, 7 f%ﬂ%ﬁ@#ﬂﬁlﬁ~?@7~7‘NG, I Y A1 N
(OB Yes T oA — BRSO SRR 125 S R MR LA =Rt

a. [/ CFRiE (BEEE 1LRT) 5

b JREHAL (RS ) ;

c. ARG ISR 5 U 49 T B A (RERTSS — 1)

B0 A5 45 LR : In most countries the selection of a landfill site is governed by rules and regu-
lations. 7] H () rules and regulations 5 JB{3r 14 regulations J& [A] SC 1k , (KT 4< 4] & IEHE 10

AN : BEAE H 5 451 : Most of the trash that Americans generate ends up in landfills. Z<47) 52 ) most
of 5T 57% JRFIRBHM. FmiA MR R,

PN R P ES —J: The passage gives a general description of the structure and use of a landfill.
A/) 7 passage, general, structure 45 JLAN A SRR, R —i8 & BREM, @it
AR /INBRAR , BT SR A 2 X S ) 0 4 ARG | PRI T A2 TE A 1

(2) FIWi A No B94) F A 5 BSCHAAR—8, HiB B —ME LT PURs 5 .

a. & B 5 R SCH B R (RERBES DU ;

b. #IFfF Bk a2 ;

c. FRICREAMN KT, 8 E R I — A5 (401 H B must or only) ;

d. RIS B RE 1 SRR R IE S P AHE R TE B R A VS i

e. JRICFIRE H s T e AR5 8] IR TR (RS = S .

B0 . R 3% o 45 DU RS . Landfills are like compost piles in that they speed up decomposition of the
buried trash. YA4] 5§ 3C 4] F A landfill is not like a compost pile, where the purpose is to bury
trash in such a way that it will decompose quickly. AL, T DA% BURE H 5 8 S B 854 R , T AR
o

X0 : B4 H 55 = 81 : Compared with other major industrialized countries, America buries a much
higher percentage of its solid waste in landfills. B A4) 5 5 4] F The United States ranks some-
where in the middle of the major countries (United Kingdom, Canada, Germany, France and Japan) in

Ol o



landfill disposal. The United Kingdom ranks highest burying about 90 percent of its solid waste in land-
fills. A ELBCRT LAERTH | BEAR 56 [ 7 JUAN 32 Tl A [ S SO Il i He ) o 36 2 RS T
WHAMEREIFZ ., H R4 R A

PN : FEB 55758 : In the United States the building of landfills is the job of both federal and lo-
cal governments. Y 4<47) 5[5 3 H141] F In the United States, taking care of trash and building landfills
are local government responsibilities. ALt , i H 8] 5" K T 3 Fl . [ B IR Y

(3) FIWiHy Not Given 41 F )L L8 ¥ A HE 5 Y, B4 LR LRSS -

a. i H PR N RAE R SO P A IR % (R ), % HH ) PN A S S P 4 B

b. ¥ IR SCHR AR

c. AR B, BIKE IR SCRT 2 0] 7 (0 R B G 4y i B 4

d. JRICR AT R , R R (REBUAE L0

e. BT LA S $ 3 Ry w5 4y

£ RSCRAEESRE RN A H AR H 6 R =y e RN % W SR

FEHEE RS HIE A No #94) FA X 51 PR 2 MR 3B A B R No, i e
X B3 Not Given,, FEF AT HGE , — 5 B2 704324 7 JETSC , A 4 B HE 0

B an : #4555 £ 5 . Hazardous wastes have to be treated before being dumped into landfills. £
Zs/] 5 hazardous AN AR FRA AT LA R 3 e HE 5 = B : In addition, there is a household haz-
ardous waste drop — off station for chemicals (paints, pesticides, other chemicals) that are banned from
the landfill. These chemicals are disposed of by private companies. Some paints can be recycled and
some organic chemicals can be burned in furnaces or power plants. iX H JJf ] hazardous wastes £ I BEE
BN, A I RE BB (A — S BB A I R PRI T F Not Given,

HEAh, B H H175 B must, only, all, always REL TR I), A8 5 — B No, TR 2, 1 50
H1 B may, perhaps, possibly FRPUESI, MARTAER Yes, [iJ&TF Not Given PR AL A e
PR R AS G A 1] 11

( ﬂ# 4 B3 BRI 25— R AL T 2, T 201 1) 25 3 T A JEE 3 HA 1R B 5] 5 AR A A
B3 R ) F— R SRS T A A LA REIREBIGC PR R 8 F , T2 53 42 |

mjﬁﬂ;#%ﬂf:l%/\ﬁ'ﬂ;Typical customers of a landfill are : - ARGE A Y
“typical customers” X |~ X581 1R 25 55 $2 #| Customers are typically municipalities and construction
companies, although residents may also use the landfill. XA ﬁ%ﬁﬁ@ﬁﬁ{l]f&&%%% munici-
palities and construction companies.,

A0 B A L. To dispose of a ton of trash in a landfill, customers have to pay a tipping fee
of . AT LA AL customers” |« tipping fee” $£ %] Ji1 3 “ Customers are charged tip-
ping fees for using the site. The tipping fees vary from $ 10 to $40 per ton. "I E A5 # . KRR
from $10 to $40.

P41 :2006 4E 6 H FV% R4 R4 /\ S5 . The greatest benefit brought about by the interstate

system was . i1 interstate system 33 />34t 7] 1 greatest 13X ™ fix & 2% , A] LA
s




83 J57 3C Above all, the interstate system provides individuals with what they cherish most: personal
freedom of mobility. filf A% 4 personal freedom of mobility.

= IR ZE E IR IE R A KRR B 3K 3T

B9 1 EMAERER, BEYE AR

Hl(Title ) , $1 %53 AT Bl 357 BRHFRASE( Subtitle ) 55 B 7% /N i Heading) , J&: % f SC 3% 3 18 Py 2%
FIREEE , JIT LA A 7 1 S Y S 25, 76 6 A 1A I e 22 TR Bk Sk RARRTIE B &£ 5
A

VIRERS R i), SC 85 A5 bR Landfills 1 7 P BEE /NFRIE How Much Trash Is Generated?, How Is
Trash Disposed of?, What Is a Landfill?, Proposing the Landfill, Building the Landfill, What Happens to
Trash in a Landfill?, How Is a Landfill Operated? Bjﬁt,}t{l]ﬂl&(ﬂ;ﬁﬁ_’}‘(%ﬂﬁj{%ﬂ% landfills ( &7 3%
BUR) I HSCEE BIS8H 3R 6 T B R e = 2 oy b S oy S 5 R 03 B
TR B A 1 e 15 LSS 19 0155 200 L B 07 14 326 25 46 [ S PR

B2 kg RN EEEE

% )WJﬂHT?HLﬁ]éﬂH‘JZ}SE‘JﬁEﬁEWﬁO The main / important point / conclusion / reason. ...
The point to note here...
2) R ASIR T F SIS MRS , 47 B T 048 S 545y
e There are two ways to bury trash.
The three steps of the operation are ...
There are three major reasons. ..
There are two types of the equipment.
3)but, however, yet, in fact %%%X?tb,’%’ﬁ’}ﬁ*%ﬁ\‘ﬁgfgﬁ,gﬁﬁﬁﬁﬁm%‘,@m B hn .
FELH :Some gets recycled (IESCFIF ) or recovered and some is bumed, but the majority is bur-
ied in landfills.
The rising birth rate is not due to increased fertility, but to a sharp decline in the death rate. A] DA FH
, birth rate EFAWEIFREE a sharp decline in the death rate.

M3 BXEMER, REXHESw”

B4 ; Therefore , the result... In conclusion, we can conclude... One of the primary conclusions. ..

%5’[\,%EE@&E)‘C%*B‘JB‘JEIJEWFW%EQJﬂ?%ﬁﬁf@ﬁ%ﬁ\—Fﬁﬂﬁﬁﬁﬁi%gﬁo [l0g= =3
E‘Jiﬁ%?ﬁﬁﬁﬁ%ﬁﬂb?&‘,ﬁﬂ&?ﬁdWﬁ@ﬁ%*ﬁ@ﬁ’:,ﬁﬁgglﬂﬂﬁmﬂ@ﬁiﬁo beoh, CE R
AT — eI FL A5, 405200 B 50 A 12 00 B 5 X LERFS T LU B IRRAT], [ 3 4k o 44 fry
B, 30T FRAT T S (7 S RARAT HE I

i‘lﬁ%’i,WJ%S‘CEEHQ”J‘C%B@%—‘\:&‘%%E—&‘, VA B B i 1 R A8 157 3% A BLB A, F73R 41
EXEHEERE. TERE T 0 SCEE 1 0 ) RS
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A5 H A B, P S SCRE 068 , o R AR B K, TS 2 58 il , R L S v
05 BT A T AFXS R T 6 1 0 — BRI F Tk 10 AR 49 6 6 A T A

B 4 B SR S0, TR ]

AR TR By i E PR AT S, AR T REFE . U TR R LR T 302803 4

For example/ instance like

Such as/these include

To illustrate/among these are

AT AR S AT 5 B0 5 R SRR 2B B 64 BT8Pt A Pl s . il

The developing countries are dependent on cash crops - sugar, coffee, cacao, cotton.

Precipitating/violent/unexpected factors are those which reduce the food supply (droughts, floods,

wars, epidemics) ...

5 MR RRTRENEN NS

Bl GnAf R vp 45 — B} . You have just finished your meal at a fast food restaurant and you throw your
uneaten food, food wrappers, drink cups, utensils and napkins into the trash can. You don’t think about
that waste again. On trash pickup day in your neighborhood, you push your can out to the curb, and
workers dump the contents into a big truck and haul it away. You don’t have to think about that waste a-
gain, either. But maybe you have wondered, as you watch the trash truck pull away, just where that gar-
bage ends up.

TEZBLRM BT “But” o 3 LA “ But” , YW BRI 10 4 2 OB 48 3 BRET 2, Fit,
IR B Z R AR EE T, 7 8 A0 40 HE 7 2 AT LA B PR AT IR Z S5 15 B

85 6 RRIT B R RN AT, IR R — LT i

@ﬁﬁﬁﬁfﬁ%%%’ﬁb&fE%ﬁiﬂt‘&ﬁﬁiﬂl‘{t,Wﬁg%ﬁﬂﬂﬁﬁﬁiﬁ’ﬂ?i%‘%*ﬁfuﬁo
TR kX RSBy :and, or, then,in addition,besides,in other words , moreover 2544

WNRERS H “How Is a Landfill Operated?” —Eg .

Along the site, there are drop - off stations for materials that are not wanted or legally banned by the
landfill. A multi - material drop — off station is used for tires, motor oil, lead — acid batteries. Some of
these materials can be recycled.

In addition, there is a household hazardous waste drop - off station for chemicals ( paints, pesti-
cides, other chemicals) that are banned from the landfill. These chemicals are disposed of by private
companies.

5 Btk K “In addition” KT BRI IE AR — B B SRR B, TR
B —Bt,

7 T AR AN AT WIS, ME S H S RS BT
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PR A3 SR s 5 A T S — 2 S A TR T T 141 5, (L DR ] 52 A A 0T LA TR B, AN

EHAMRET
BIAERE A THIER -

Dump — an open hole in the ground where trash is buriéd and that is full of various animals (rats,
mice, birds). (This is most people’s idea of a landfill! )

Landfill — carefully designed structure built into or on top of the ground in which trash is isolated
from the surrounding environment ( groundwater, air, rain). This isolation is accomplished with a bottom
liner and daily covering of soil.

o Sanitary landfill - landfill that uses a clay liner to isolate the trash from the environment

0 Municipal solid waste (MSW) landfill - landfill that uses a synthetic ( plastic) liner to isolate the
trash from the environment

JCE A Dump” | Landfill” 2 J5 43 514 —ANHTS 45 84 55 B 945 BT AR, P bk
] 2 AL PR 58 P o SO 3 B B AR, A S LA 40 15 '

FEBI:2006 4F 6 J 37 04 5% iR o SCEE{RIB0 — B

The interstate system has been an essential element of the nation’s economic growth in terms of ship-
ping and job creation: more than 75 percent of the nation’s freight deliveries arrive by truck; and most
products that arrive by rail or air use interstates for last leg of the journey by vehicle.

TERXBICTH, " ereation” 2 S5 B —ANE 5, B U1 187 P 280 X T T 10 28 PO R, U5 TR O 125
SLAT LA S F B 352

#9 8 mE MF AT T ELEEHE S REEE S

PRI Ay 1 A R A — A 2 SCRE AU BIRA 6, A1 T S 0 0 o i S0 R 30 T, i
KRATEMTCYS , H T8 BN TR BIE R AR H ) T2 4G 07

HN#EEIH “ How Much Trash Is Generated?” — B

Of the 210 million tons of trash, or solid waste, generated in the United States annually, about 56
million tons, or 27 percent, is either recycled ( glass, paper products, plastic, metals) or composted
(BUBHERE) (yard waste).

FHANFEH “ How Is Trash Disposed of” — Bt

The trash production in the United States has almost tripled since 1960. This trash is handled in va-
rious ways. About 27 percent of the trash is recycled or composted, 16 percent is burned and 57 percent
is buried in landfills. The amount of trash buried in landfills has doubled since 1960,

P B A KB AT, 7T A2 415 8 A B (3 , 26 b T B B 4% , T DA e 25
B3

FiOh AEVU BRI, B — AR T B, o b D B BTG, WhR, B RS B
I AN A SR HAH L AT , 33 B T3 A S8 I By — AN 2 T 4 Bilan .

The main reason for ($#/%: F 305K HZ) the reduction in the death rate in the developing world

has been improved public health measures. For example, ($&75: T XfE BAEE (ULE KR T FISkIF
o



BRI ET AW AT ) in Sri Lanka the death rate was halved over ten years by spraying the mosquitoes which
carry malaria. Why (#2755 ; [\ U 22 28 th A 12 3 0 I 06 1 (9 T A5 s it so easy to cut the death rate in
this way and yet so hard to reduce the birth rate? One answer (#i7%:3x H TR LB R PR —Fh, HA
Jefx EE),) is that public health measures can be very cheap. Anti — malarial spraying is inexpen-
sive. But this is not the important point ( 75 ; but J& T AR R B {E E) . For birth control pro-
grammes to be successful, a change in attitude is required , whereas death control can be achieved auton-
omously. In other words, (#&75% ; 35X Hl G-/ % A8 505 5 M HEZ(5H ) the death rate can be cut without

anything else changing.

w9 EHEREE, K LR, AR E P RIBRN AT (HEE)

FEAT I B AR AR AR B RS0, 1 P 05 B3 B . I L ZE A H A
OB (e B ARR A o 0« PD RIS 23 1) ) - o B4 4%, I ERIFREFHAG 8%
XK FI B A TR, U] 3 B 40 LA 3 47 S 5N o 0 2 BT TR AR S %
BRI, 1155 BT BTG N 28 o] — B o

B4 RERS%S 6 i . In the United States the building of landfills is the job of both federal and local
governments.

TEH WS , — L5 4 7] , “ United States” , “building of landfills” AR AR TR A A 8 20 S
“In the United States, taking care of trash and building landfills are local government responsibilities. ”
KA W EIR o

FES A9 9 B3 To dispose of a ton of trash in a landfill, customers have to pay a tipping fee of . [
AT LA A customers™ | “tipping fee” #% £ JE 3¢ “ Customers are charged tipping fees for using the site.
The tipping fees vary from $10 to $40 per ton. i3 ¥SEay -

FHA0:2006 4E 6 F 7 V0% ik oA xR =

* National standards for paved roads were in place by 1921.

% General Eisenhower felt that the broad German motorways made more sense than the two lane
highways of America.

* It was in the 1950s that the American government finally took action to build a national high way
system.

YA b=, 88— 419217 , 58 T “ General Eisenhower” s B =AY 19508 P — e ke
BB S A 34 R A o

SNSRSCEE RO/, s T LK £ 7 5 5 45 A INBR B AR B, KA RE %
RELE WA TR R I

B4R« B 45 v 45 U

Landfills are like compost piles in that they speed up decomposition of the buried trash. ¥ S 3] by A
9 K AR andfills 1 compost piles , 485 [ 50 SO {37 , AT 46 BB 3 o A /IR “ What is
a landfill?” [t , AT LK) 72 RAR AT REARAE R 40, SES2 |, FEIXERST Y S — B v A 3 R — )

A landfill is not like a compost pile, where the purpose is to bury trash in such a way that it will decom-
8



pose quickly. 1F &8 H %} W A)

(™10 (ISR STRRORT B4, X Bt E AR o

TE B SC AP E LR X A1) 2 I, B AR S LA S, RO A TR i B A , O HAEAT IR
WG HEWTSE (study reading) , SR 5 fif it 418 o

Bil4n :2006 4E 6 H i U4 il 45 AR 8

The great benefit brought by the interstate system was

i R A R B SRR = Bef i 4 —4)

Above all, the interstate system provides individuals with what they cherish most: personal freedom

of mobility.

[EJRE A 64 “ The great” FiAH 24 T SCHH I “ Above all” , FF LA RMTEEZ AP E S ZEHER
“personal freedom of mobility. ”

X H1:2006 4 6 H H Uk % KA R A 10 8

The interstate system was renamed after Eisenhower in recognition

i3 Eisenhower 33X 4™ & B 7, 48 5 5 3CH e fi — BE 45 iX Bt — /) The high way system was
officially renamed for Eisenhower to honor his vision and leadership. FEAF4f ji %, £ H # f) in recogni-
tion SEBR_EBEAH 24 F to honor Y58, T LAJS i) his vision and leadership EJl f IF %3,

AR , FE BT Y S sl o, PR B SRR AR S AY , e T IR, B E R IE , &1k £ R T
TFo (ER, X FZRARY, FATNEZA — IV WA , AR e DR P L2 MR B B S R A e i
Ff 6] PN AR BB B8 3 B AR 1R B RO RE Y, TR, & SRR T IE MBI A T B, RER
(IE5 3¢ 4032 FE T W G300 52 , 00 S A Bl 8 AR 352 4 7 1, 8% 9 07 0 B 15 S0 488, 388 SR AR 2 5 B A
6 T 4 LY

PART @ Wy 71 B

T10 SRR VUG T ) BRAR A, B 2 AR DU R : DA XE , @ K xHE , @ S H
i, QEERNE,

~ AT IEREBRE EZHIXIT

V) BB

1. FEDTAF PG AT ) SRR X P B AR BT N R B S 45
AT YR 4 AR R 15— B E 1], U 710 437 B8 DU 4% ok Ak 3 R 3 S K [ A
W RIS 6] A RS AR AR BB . O LR A
(1) Where is the conversation most probably taking place?
.9l



(2) Where is the man/woman probably going?
(3) What most probably is the man?
(4) Who is the man/woman?
(5) What is the probable relationship between the two speakers?
B KRR, B S BRI ( prediction ) i 7481, UK B4R i HUWTRE 7 . B A0 K T IE 4,
- REEIRLA I , Rl R SR — 5 ¥ SO SR . IS AR % b A SR — 1
M: Please buy two packs of cigarettes for me while you are at the store.
W: T am not going to any store. I'm going to see Aunt Mary, but I will get them for you at the gas sta-
tion.
Q: Where will the woman stop on her way?
A. At a cigarette store. B. At a bus station. C. At a gas station. D. At Aunt Mary’s.
ARE R NI Co FVFLZ RS T, R BT Aunt Mary's B4+ 10 HiH, W%
RHEG A TIART N . GAARR, ANT0IES A BT2E 5 AT S HARR B R R E6
AN, VS T H AN o DRI, FRATT AT AAR SR AT B35 35 MW7 B 0 B 36 R RIS O 2
o WRFUT ST YNGR, RWIBLRIE S AR RSO TS 5 AR, X S SR AR A A
2. HEWTESYERILIRE DU X R T 32 3 L B — R R A B B R . 3
S H B L ROT R TE BT BRI B8 B AR B M P B BRI R, T BEAR
W ET P A PR A T DRI, SRS T A LSRR I S, AR R
(1) What does the man/woman mean?
(2) What does the man/woman imply?
(3) What can we learn from the conversation?
(4) What can be inferred/concluded from the conversation?
(5) What do we learn from the man’s/woman’s response ?
(6) What had the man/woman previously assumed?
AT LAATEE TE VBRI TE A FO RSB, ST S 5 M A, o,
M: Taking a walk everyday is good for our health, especially when the weather is fine.
W: I couldn’t agree more!
Q: What does the woman mean?
“I couldn’t agree more|” /R “ A BRI T " R, B, &+ 19 E &R,
BT MM S0 G A RO R o BB SR e 53 SR R I 5 3L, 7 i ik —
PR T LA T DR A A FCSC R, il
M: T was told you had made a journey to Disneyland with many friends. How was the journey?
W: Had Tom not joined us, we would have enjoyed our trip a lot more.
Q: What does the woman mean?
H A3 < Had Tom not joined us” AT 41, %+ ELIE 2 U A Tom 5 H 4R
BRILEAS , AT AT LAF 47 i) SO & ORISR 45 B, fl40 -
M: It is said that the physics course this term is outstanding.
S0



W It used to be, but now Professor Smith has retired.

Q: What can be inferred from the woman’s response?

“but” ¥ ¥4 H“not outstanding” .

D BARIS5

1. AT IR O PRAE A . S W 3, O 3 1 iobs sl 50K, ZRAS A T R, B
TR O , LEE RS, ARBIE R ZH# H C K

2. SPASF—GIWT J3 2B A T A R0 T S R W T s T R A A, AR
PRI 2Z [ IR 2R o

3. FE50 ) FH A T B T 4R 3 PN 25 , ST R ] 12 X5 e 2 MR 00 8 0T 30 1 PR 2, T T S,
WrE| T for example, A] HI N i 24 4] , however T Ry 44

4. I A TR RPN EE AN A

5. B HLE S T M vlidE AR,

SR BEBAEBRSE Z9IXIT

2 BARNSS

BB R JETE WU RN W2 T 7 BRI 43 OV 240 R 543 130 1), 53 4h, M7 5
B R, BANRMEEECA 3 -4 MRS, HAR 5 LU BT 48 SO AR R , I A2 4 h T
e B o AEL SRS TEA L , B X 1 1A 28 B R 2% , — A il 4 AL A X ] o 4 o e
X Lo BT RABE, — A—HI BRI S g R — AN 87, T S E  B e— AN T, 4
Xt T PR 22 8 — PR T DL B, 74 75 A AR 44 0 T

XHR X V8 BRI AL AT , SRR X 5 AR [R] , WK X EEAT 4026, A4 B 3R AT T “ T (2
#o VRS HH TR R I MG TG R KSR By B e
Gk B R WATE R RIS IR RS 5. JOER Rk BIE =, FE 10 AT
MR AEXT LB R , Vi A R WA A0 SR 23 , 2 DUV 7 46 X 375 3 40 1T LA A )
RWTSERRAS

Bilan

1. BIEGR

SMHIHZAR eat out, go out for lunch; #ERTIT 5L F book a table, make a reservation; 3B menu, 3
¥ recipe, 4FA3E special , #:#% recommend , 5% /N 3 receive a tip

% :RIEZ This is my treat; Let me treat you; Let me pick up the bill.

AA il go fifty fifty, go Dutch

i 554 % i : DAre you ready to order now? @UI'll be with you in a moment.

2. MR

RN AR A

o4



G5 B IA G AR A AAAL SE TR A o XF 5 FIPEAT LB Ui BB AL, v
BB FHI R,

R - S — R 1) T 4RAAEAR Y B T, T LA B T B 4 M LB 2% , B0 &t — B B 5
HFh PR, W T TR R AR S

B FH B4 1)1 A1) 41 : roommate, dormitory, deposit, live on, off campus, utilities, heating costs,
temporary accommodation, landlord, apartment, sublet, dishwasher, messy, a leaky faucet( J§7K 17K ¥
3k), tenant, afford 45

3. #hRTE

Gt N [f)2 &0

Gl RO P SRR TR S SR PR B SR T, 35 4R 55— AN 2R, BT L %
RENEL A HE .

S AR B R K A, WA — B Ao o A A AN R e 2 2 ]
— L BERIVE, W B —— 2R S5VE . S5RAL, A S RIUR |k 5 R

LW PR Rl A 4

Q: Why was the man late for class? ( Why did the man ask the woman about the lecture?)

A: He overslept(was sick, had some trouble with his car, had to go to see the doctor, dentist, had

an emergency )
Q: What confused the man?
A: B IREAE
Q: What does the man promise to do at last?
A: He will not be late again( oversleep again)
W FIRICAALL 6l sb. in (FAKEA), You've really lost me there (/R ELIR LRI T) ,

make sense, miss a pretty important class, clarify the misunderstanding, check the notes %,

) BRAIUHPRIS
VERT S B SRR BT S (MM AR o 4R — S BT T LA B 5 R

(™ 1 R a5 BT

LR I ARE T ARG S I, X T R R N A e T, FEATERE B = K
XHE R, SALEE T 40T B B % 5 A3 - book, magazine, newspaper, article, periodical literature,
reader’s guide, online catalogue, indexes, reference material, reference desk, 3 IEi0E T X L7
T, LA 5 W ot 5 ) PN 25 o

Bl , 26 F K104 « climate & ; temperature “ 3 ; ;to be warm, to be hot KB to be
cold RS ;season Z=5 ;spring 7 ; summer K ;autumn Bk (354 fall) ; winter % ;fog 35 ; frost 55 ;
hail JK%i ; snow %5 ; thunder %5 ; wind J{ ; mist % 7K ; cloud Z ; haze %8 ; rain I ; downpour {8 4% A
shower [4 T ; storm, tempest #& XN ; lightning (A Hi, ; land wind fili X ; hurricane M8 X ; eyclone TERL ; ty-
phoon £ X ;tornado, twister Jp 4 A ; gale AR ; gust of wind 4R ; breeze R dew B&JK ; humidity 14

o 1D+



I ; freeze UK ; snowflake Z5 4L ; snowfall [ ; waterspout /K 145 ; Indian summer /)sH# ; drought F
F

™ 2 75 R AT VS BA TR, 1B 3T S AT TR R E R

FEASKT U 5% 5 T 22 AL AT Bl s i) 0 G897 A 0, LA (68 000 %o 375 ) RS ARAH S 4145 N2 .
MEEREFN 2006 4F 6 J PUGH AT DK | 0135 FHE X 376 22 18] JL - 38 A4 12 B i i) g , T LA R
I 44 2 S 0T 175 45 R P 0 W 4K X5 S 0, 77 197 7E 7K Section A ) Directions B BEJF44 , Section A ()
Directions AZHFEE 50 W FIES ] o 53 HH 1], 5 24 AT LA 2P TG 0 8 485 — A 4 0 355 B0 TR 00 , SR U5
BN YR — TS A I, R TS T &, SN ENE 2 B 3G 15 W A5 st [ ]
B , 255 2 T P B (R e FOUE T — A % 345 190 26 301 5 L% 46 o 5% , 4250 M. 0T T 65 i 0 o 9 0
HERAE 40 BAA ] N B 65— MR XHE IS 1 4 AL 3 MR, X B AR S EE LY

FETUYE TN , B F A o EAL IR, X SETAIE 2 AR — SRR B2 IR EIZ R 7E
R TSI AR s b. A ARSI R[], R — R 94 5, M B R R 3] X e R [l 2
B0 S S ST P R AT 0 i R T B AR A R R Y

BATARERS 8 — K XHE R BRI : (RS — & XHE AR RT3 LSS T )

WE T o BT business competition, cost of production, expense of modernization, business
strategies, immediate repairs, personnel manager, inefficiency, modernize the factory, entire staff , em-
ployees, advertising on TV, TV commercials, advertising in newspapers, investments 2 & E {73, fy
R AT TP X V8 1T REIE T sl i 854 SR e (L2, XFE, A AT LA B E © AR 36
HRAR, AT HhBAR X 2 :

WAL SR A 557, K IE 243 0 43 0 0 VA 6001, A o 40 o e B EE
RN AN 19 REA AN JEIA 2 4% 1) 6 325 , 3K 100 1 o B T 2 120 What $10], 77 2L what $2
IREEAEE [ ) R R N 2 5 B4, %6331 B) I D) F27E:254% , B proposal 1 suggestion Je AT SCi] , AR —
PO RIUI , B 300 54 9 e T A T A 1 , T e A R H b = — B DGR 45 /N
R Rl o 25 20 JAY YA SEITHR LA Tt T3k , B 4 BT LA 52 S — 532 1] 5] TARE X5 i Ul B g A 5
WY, BT LA A O R T R ) S A , AYETE C) Y immediate repairs , 456 — JF 4 Xt %ot i
ERAATI , 7T AKAE O R 2% AL RS B 4 KT IS B A 45 76 . 485 21 R PY A Ve I AL A7 A S, BB
RV 2 NG 28, B8 A% AU RIAR AT B2 SE UGG 248 T A 2 2y o T LT X ) = R
A BT LART LASS R SURA 56 Tl i A3 (2 2, 465 22 A St R AR B B 14, R SR g A
IR BL T advertising #2615 B o JIT A RME T LA Y0 0 e R 57 32 J2 A 26 T 4l f) o 0 5 3
HRE AL IR

™ 3 & FEA-ERRENEEEE

AT B DU AN, AT AT LAHERR — 25— 5 kA f1 e 377 REA LT LRSI .

(1) I A 4 SHE A — R R E A % X LETEAT ;must, always, never, the most, all,
merely, only, have to , any, no, completely, none, hardly;

T 346 250 P 3 G5 8 P 46 0 35 3] T S DA A 4 AN 4 30 1 18 A ) — MR TE A
should, usually, might, most( KZH) ,more or less, relatively, be likely to, possible, whether or, not

4B~



necessarily % |

(2) XFEB KRB, 50 h 33k 5 B, Sk M 2608 T T BB , — IR AR I, T
MEFEVER SR, & SURZIM R E R,

FATLARER 2R — X RE A4 19 R4

19. What are the two speakers talking about?

A) The benefits of strong business competition.

B) A proposal to lower the cost of production.

C) Complaints about the expense of modernization.

D) Suggestions concerning new business strategies.

TSR IE VS BRI AL, T A FRAT 19732 10 AU S5 O VB, i P by B 1 305
RN SR I, B AOMEIE ML B % , Wl A JGHERS . A 9 TR WA B I 5 S M A O Ak
IR, WAL SE S0 T B A b4, BT AR KA B, C AE—FHHAR, — A ] B R
AFE o i D AT AT LA,

(3) PRI — RREHUAR R 35 A BB o L TE T K — T — M IR e

ROTLUFEL K IHERSE 21 5 H 4 .

A) The personnel manager should be fired for inefficiency.

B) A few engineers should be employed to modernize the factory.

C) The entire staff should be retrained.

D) Better - educated employees should be promoted.

A X HI YA BT, 3R AT AT LA B, A AW , C F1 D TARFE AT FAR, T B T4 4
FIEERLIN . C TUBLATA Y Y TR % PR32 B, AR AT B L i D T 52 I B BRI
b RN Y b % , % TR RE 3 i A B4R T

5™ 4 B E s

G 5 B AENT H7 v FEAE HAD S B R R £, 15— ) Y 61 [ B8 20 S A [ 1 , 33K e s
B 2K ﬁfzﬁu%ﬁ@m*ﬁ%%%lﬁmﬁ?ﬁm—ﬁ,~EK@B<J%%~?§ETJﬂté‘%’fiﬁlﬁ,
B B LR R A i

R BRXEMRAEBRSE Z9IXI5

*) DREDH

R SCRNT TR A B B PRI o 457 S 490 0 50 48 25— A 3 200 — 250 ), R
ﬂﬂ*ﬁl“ﬁ,@ﬁiﬂ:\ﬁ’%‘\ﬂi\N:I:A‘l‘?\5393\iﬁ’,fﬁ\&ﬁ\%?ﬁxzﬁ\ﬂgiﬂiﬂ\k%f?i&lﬂﬂﬁ
o RIS EERMRBEAUREE WEEEEL IR R B HHAGETT TS S R Schk
HIRET o DAL 160 R R A LA R LA O SR T «

What’s the main idea/topic of the passage?

o il s



What's the passage mainly about?

What do we know about...?

What is the best/suitable title for the passage?

Which of the following is true/not true, according to the speaker?
Which of the following is/is not mentioned?

What is the most appropriate word to replace the word . . . ?

What can you infer from the passage?

What’s the author’s attitude toward . . . ?

2D BORKIS

L. 5%, W4 r R B, 100046 SC R 2

2. @lbﬁiﬂ?%*ﬂ%@%’@?ﬁ’!:”ﬂ‘]iﬁ’%"%)‘(ﬁﬂ@*bﬁﬂ’ﬁ%‘ﬂ@m,ﬁﬁﬂﬁ”&.’ﬂl)‘(ﬁﬂﬁ*/l}
ok BB T o

3. Wriids.

4, EETfﬁ)‘(%ﬁ%%ﬁﬁﬁﬁ%%é‘mﬂﬁ,ﬁf%%é?ﬂi%%&%%#ﬁ%%%ﬂiﬂ&ﬁﬁﬁﬁi\iﬁ
Yi\t%gﬁﬂi’ﬁ]iﬂ,ﬁk%ﬂiﬂﬁi,gﬁﬁﬁ’@ﬁé’ﬂiﬁ,'Ull??ﬁﬁﬁ\?ﬁfﬁ\ﬂ%ﬁ\%%%ﬂ@ﬁﬁﬁo

N REXFEHAEBRS S5 KI5

) RS

éﬁ”f‘rgﬁfé‘%%mé&%iﬁ*,%ﬁﬁiﬂﬁ%ﬁﬁﬁﬁm%,ﬁikﬂﬁﬁ#:ﬁtﬁ~o B &

R ) 10 G35 R TR A P 070 ] A A1 ) 48
BERRAEFER F—F 200 - 250 Jal )46 3¢, B4 11 4b2s i BRI P25, 48 SC 1 11
TEENEZE. X 1P, 1~8 2 e LR BOR ARS8 M i B, 9 ~
1 2R A7 S BRU F ZR , B v RS, o T L 1 C A= HT5HE, LB B EMT .,

2D BOKIS

XAHRI EBH IR IT AL T A BB T 2k RE S PR At B2 R A R UL

1. FEH#EHL Directions ARG, PRI TUAT (9 Bk, X O (5 48 30— AN B T4, F 44
BRERR.

2. 1E Directions AR PR AR5 , S0 728 (3150 88 TF Sk | WP 5 e A

3. IS —mR TN, EAET AL, TAESFHE, IERRIMIE R — A 7%, —ih
%)‘C?H%\L,E,éiﬁ?%%ﬁﬁ,ﬁ%fﬁ‘fﬁé%&t%kﬁmﬁ,ﬁ%:ﬁlﬁi%\gmgﬁﬁiﬂﬂo

4. “ﬁ%:ﬁ&i%ﬂa‘,%Eﬁﬂﬂi?ﬁ”ﬁ%fﬁé‘ﬂ?fﬁﬁﬂﬂﬁ],uﬁﬂﬂ@@%ﬁi%*ﬁﬂ%ﬁ’ﬂo

5. BEBFE R T BBk HLL.
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PART M) 1780505005

740G BB A = PR Dbl s, 40 128 , @ 5 e
~ ZXFEEAHEBREZ9IRIT

v) ATURRIR

(1) fn B A2

HE VIS 00 AT 2 s — A5 200 - 250 i S &4 10 a RIG A 15 Mgt s, 5
RAAEIE 10 IR AMBIAIZ AL, SCEEH 10 A B R LR R Rk, —4)
AP ES, 558,10 P os AR B pS S i,

SRS AT LASEE A RANIC AT AR, T 2 M A BMAR HEH B, (HiB AR
HR AR . XA FETC P R SE T S BERY T 8, BRIK 15 AN kil o  FE A
BB (LF44), 5 TR

(2) Rk #1452

SCEAR B — M AE 200 - 250 37 (#£45 K 221,06 4F 6 A BG4 H 196) , LATEALSCHI 3B 3

R EBARE D BHA — I BGE RS o SCEHE I SR AN 9 R AT R v
(3) ETHE =

15 838 1) 2y Sl , S R4 3hidl (& M A ah 43 JEAE ] BE, AT
TR, B S0 TE T T4, A (R R ] WA T4, BT 305 TR e
WU HEAE — 2 o {48 3331 AR A0 ) Sl S BRI BAE A RORI S T

) BRAIARKIT

CB 1 s A (word bank) i 15 G AR L, 10 0. (B 263,
. (B9) . (441) ,ad. (B o SOREGET B e BRI 4 T

LIRS o i)

A) wonder v /n 1) hid . T
B) acquired v. J) prominent a.

C) consistently ad. K) decent a.

D) regained v. L) countless a.

E ) nightmare n. M) recalled v.

F) native a. N) breakthrough n.

G) acceptance n. 0) automatically ad.

H) effective a. =1 ]

« 46 »



